A & 0l & AF S E M A
201MEE 20lAa LBESIH FHeHEH ~ HeHdH
fA HHH
M HHFUHIMH AES S
et e EQIME N (a2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
e 553,545 565,985 A 12,440
HeHBEFHHME A S 2SS} 194,384 177,894 16,490
HelHF=0I XA 194,384 177,894 16,490
HAHFCNXMEH2H 15,000 15,000 0
201 B3| 15,000 15,000 0
01 AtE222lHl 15,000 15,000 0
O=0IXXIHEt2H B 15,000,000& 14! 15,000
HeHEFEHHHE 48,920 48,920 0
301 et2A = 48,920 48,920 0
05 &-cl-EtEEs=2as 47,920 47,920 0
Ool&E=¢ 200,000 «1401x12& 33,600
O0lEAH= 200,000 *1421%23| 5,600
O0lE 3o&A =5 20,0003 *1421x23]«12& 6,720
OgtE & sl 50,000& »40¢2! 2,000
10 HALAHIZ2 &3 1,000 1,000 0
ONS L BAS BAT AH24
1,000, 0003 * 14 1,000
HHHIF A2 E 22 54,364 34,274 20,090
101 elH| 2,220 2,130 90
04 JIZtHZ2Z2 s+ 2,220 2,130 0
OosXga 34 35,8003 22131 2,220
201 LBt Y| 22,144 22,144 0
02 2Z223H| 22,144 22,144 0
O3232= & AMA 14,044,000& * 14! 14,044
OH 2l 4,100,000& =14 4,100
OAl & &= Xl 4,000, 000& 14 4,000
401 AIEHIZ 2 30,000 10,000 20,000
01 Al&H| 30,000 10,000 20,000
osXza B 20,000,000& * 14! 20,000
OHHAUR(IIS)SA 10,000,000 * 14! 10,000
FHeHHAHX A 68,100 71,700 23,600
201 LBt FH| 21,300 21,300 0
01 AFR 22| 10,500 10,500 0
Oget=&ZH| 9,000, 000& 14 9,000
oz2d=¢ 1,500,000& * 14! 1,500
02 5234l 10,800 10,800 0
OoRER3 3,000,000 =14 3,000
OXt& =Xl 7,800,000& 14 7,800
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A XNEH . Cte (S HEAY . HA= Al OH dE e
202 OfH] 46,800 50,400 23,600
01 2oy 46,800 50,400 A3,600
OJ|2g2 480 (132) 3,900,000 122 46,800
FHepsH2d 22 XA 8,000 8,000 0
405 KHAHE S 8,000 8,000 0
01 ML ESEFSH| 8,000 8,000 0
OkolAz2eD| 8,000,0002 x4l 8,000
P AFS 2 306,530 306,420 110
HHNHARDZ=O=SAALY 306,530 306,420 110
FHeHH =oAL 302, 160 302, 160 0
401 Al&HI LY 302, 160 302, 160 0
01 Al&H] 300,000 300,000 0
os21el XE s£2 AHI(L=300m)
20,000,000 * 14! 20,000
oOaxeel ME =2 ZE(L=150m,B=3m)
20,000,000 * 14! 20,000
OFZ12| =X =2 EF(L=100m,B8=3m)
15,000, 0002 * 14! 15,000
OFZ22| 58 =2 I F(L=250m,8=3m)
30,000,000 * 14! 30,000
o=241el Heluwszl F =2 ZE(L=200m, B=3m)
25,000,000 * 14! 25,000
Oadoel 0tSs/& ¢ o4& Ls2 A
L=200m) 30,000,000 * 14! 30,000
2432 =W 542 HH|(L=100m)
20,000,000 * 14! 20,000
O2Y4e] €S OtA2R M 2] (1L.=500m,B8=3m)
15,000, 0002 14! 15,000
O23H12] JI0t2 =2 X Z(L=80m,B8=3m)
10,000, 0002 14! 10,000
Og3H2el JIxea =2 Z & (L=200m,B=3m)
25,000,000 * 14! 25,000
O2H32l &XEB =222 (L=200m,B=3m)
25,000,000 * 14! 25,000
OHefi12l ote= =2 LA (L=150m,B=3m)
20,000,000 * 14! 20,000
OFefzel «otxl T2 A H|(L=150m)
25,000,000 * 14! 25,000
OHel3el §2 s2EF(L=100m)
20,000,000 * 14! 20,000
03 Al&=2CHHI 2,160 2,160 0
OAIE 2] 300,000,00024%0.72/100 2,160
HeHHE 2 A 4,370 4,260 110
101 Q14 4,370 4,260 110
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M FAfHAISE S

CHol: B AT DRFOISALLS chel MR
SA BB CR(SH) - NRAY - A S Aol e =2
0 4 o
04 JIZtHIZ2E2NHEE S 4,370 4,260 110
O =zzel(M4a) & s#Z2AY

43,7003 x102!x10 4,370

HeH®H P 2FZHI 52,631 81,671 229,040

FHeiHolsE 2 F | 29,083 39,203 210,120

HeiHeleE 2 H | 29,083 39,203 210,120

101 Q14| 29,083 29,083 0

01 = 29,083 29,083 0
OANZ2e 2RSS 7,457 3 x1321x300Al 2+ 29,083

HeHHI| 23| 23,548 42,468 218,920

HelHII2Z I 23,548 42,468 A 18,920

201 et 6,768 6,768 0

01 AFR 22l 6,768 6,768 0
ORMEE =Sl 4,584,000 14 4,584
OF=3=i:] 7,000& x1321+23| x12& 2,184

202 (4 HI 2,000 2,000 0

01 =Wl 2,000 2,000 0
Ozl 2,000, 0002 =14 2,000

203 HRF&H| 10,120 0 10,120

01 JI22FHRF&HI 6,600 0 6,600
OJ2#2F YR =4 6,600,000& 12! 6,600

02 HANMMPRF=EHI 520 0 520
OZFAINMHRFEHI 40,0003 x13¢2! 520

04 FN2ILRFAHI 3,000 0 3,000
ORNMZEHE=AHI 250,000& = 12& 3,000

405 KHeHESHI 4,660 33,700 229,040

01 XL SSFSHI 4,660 33,700 229,040
O&HR SR 180, 000& *2CH 360
OZUH 400,000 *2CH 800
omv 1,000, 0003 = 1CH 1,000
OCIXIE Stal et 300, 0002 *1CH 300
Od230(a1a ) 2,200,000 *1CH 2,200




